= o
N & o & AF & H Al A
20168 & =0l & LBHSIH THR
2EAM: R
M ZHot) FHE MHAE 29
Sl B SYS MIZ2Y (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
TH <2 It 2,967,766 2,730,330 237,436
S&otD FHE HAE 29 629,184 674,110 AN 44,926
=85t FHE ME=2E 518,564 555,210 A 36,646
OHEXOI XIZME2H 170,077 209,659 A 39,582
201 L2l 41,725 72,720 A 30,995
01 At 22l 27,775 47,790 220,015
O[ger=&dl] 27,775
OXNA MAYR 2 SHIHE HH
70,0003 = 1400 = 13l 980
O XAl SEFLHAI g2t
5,000& = 1,080% 5,400
OXNZLM S8 ZElHI EH 7L 7,140
o ZNH(HINE, N2 )EEE
795,000& * 43| 3,180
o O0CR =gl &4 330,000& * 2CH = 43 2,640
07 - SEMN &% Zgid EH(UAAY)
330,000& * 20H = 23| 1,320
OXZYM XM S EX 9,075
o NEA EIIZ20CRLXAM(SEE)
65,0003 * 10%A « 13 650
o NEAH S2UH0CRLAM(EHE)
65,0003 = 35%tA * 3F 6,825
o NZAl Sotated SWasgI 2
50,000& = 32¥A 1,600
OXNLMNBSEXAMT T ZEIHI A2
WA 350,000& * 68 * 23| 4,200
OZHMaARBE HHLY
70,000& * 7Q! = 23| 980
02 =224l 13,950 24,930 A 10,980
Oo3322 ¥ HMAI 6,930
OXYAN DXNAM L& 2HZ 6,930
o sJI 1,930& * 1,000 1,930
o et 3203 = 15,6254 5,000
O[AM&E&HI S XHl] 7,020
Ox1% HZEH)I ¥ fESHI SAUE=
7,020,000 * 14 7,020
202 o4dl 19,080 18,500 580
01 = LH o4 1l 19,080 18,500 580
OMSEA HEF& Y| 6,000
O ZHLH 20,0003 = 321 = 40 2,400
o2 120,000& = 321 = 10 3,600
OXNgHEFHZ & ESNRALUE TR
u]l 120,000& * 20! = 3 720
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SM: HPD
M ZHot) FHE MHAE 29
Sel: BHGD £Y NI2Y EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONBN *5MBIE ~%a
50,000,000& * 2% 1,000
OXgAN MEX OSHE X3 =2
2,000 = 2,4752A 4,950
OJI&HZE =5 80& = 50,000 4,000
02 2324l 44,019 51,429 AT,410
Ol2222 ¥ HMAl 33,189
ONYHSSY LELH2(AY)
20& = 27,000A 8,640
OXNEN=EEZE YEREZ(SDI)
1,930& * 9,000 17,370
O3l £ ME=ESST 0l
1,930& * 300 579
OXYAM ME=SH ANEE 2 (ME=x3!)
50,000& = 1104 » 123 6,600
O[AM& &b 2Xbl] 10,830
ONMEXNSEHSEHAXANAHE R E =H|
150,000& = 128 » 204 3,600
O Jr&H Z = A A2 X 22t
300,000& = 12& 3,600
OXNBHEXANAE SXEH|
302,500& = 12& 3,630
202 oddl 20,000 23,000 A 3,000
01 = LH o4 bl 20,000 23,000 A 3,000
OXNEAMEx RF=E Ol
20,000& = 521 » 200 20,000
303 Z& 3 15,000 15,000 0
01 243 15,000 15,000 0
02015 XA E2=2=8H A4S 15,000
Oxe= 5,000,000& » 1™ 5,000
? = 3,000,000 * 25© 6,000
oF do 2,000,000&  25H 4,000
401 Al HI K 201 Y] 61,000 61,000 0
01 A& HI 61,000 61,000 0
02015 XYM = =52 &AL 61,000
O xS 15,000,000&  15H 15,000
o = 13,000,000 * 2™ 26,000
oF do 10,000,000& » 28H 20,000
NLA Mg 2208 29 23,575 34,475 A 10,900
201 Let24d] 325 11,975 A 11,650
01 At 2teltl 325 975 A 650
Oflger=&tl] 325
OMe=g DM P2 65,0002 » 5% A 325




SM: HPD
M ZHot) FHE MHAE 29
Sel: ZHGD =Y NIFSY (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 23,250 22,500 750
02 SJ1 2SO0l CHSH At 2 X O & AR I 23,250 22,500 750
OMA+LEEANAE RXE=H|
23,250,000& * 14 23,250
NN 2R =8 38,446 0 38,446
201 Let249] 30,946 0 30,946
01 At 22/l 11,060 0 11,060
Olger=2tl] 11,060
OXEgAN MY 2 SHIHE A
70,0003 = 1404 = 23] 1,960
OXNZLMIXNM S EX 9,100
o NLMAEIIZORLXNA(EEE)
65,0003 = 302 A + 23 3,900
0 XL ANSD0CRAXIAM (2 ZF)
65,0003 * 4024 + 28 5,200
02 =24l 19,886 0 19,886
OlB222LHA] 19,886
OXNZLNMIXNMLTESSER 19,886
os Yl 1,930& = 1,000 1,930
o g Bt 320& = 50,000A 16,000
o Bt&E= 1,630& * 1008 » 123 1,956
202 Oddl 7,500 0 7,500
01 = LH 4 Hi 7,500 0 7,500
OXZAN LA SRF=E I
20,0003 = 501 = 75 7,500
ANLA HE A 123,677 130,492 26,815
101 @124l 33,387 29,242 4,145
04 JIZHHNZ22XNSE =+ 33,387 29,242 4,145
OMNEFEIIA XA 212
48,2403 = 1491 » 45¢ 30,392
OMNEFEIIAZAARY 400 EE =
30,391,200& * 9.85471% 2,995
201 Let24d] 85,970 95,240 A9,270
01 At 22l 66,260 65,450 810
Olgeregyl] 57,630
OMNE=EIA XA 57,630
0 FEHUINH AB 442
6,000& = 14,5004 * 50% 43,500
0 BTG oIt U 0[ME AS 44
= 17,0003 = 3002 » 50% 2,550
o FEIIAXIA E2 SdIHE WA
70,000 = 1304 = 23] 1,820




SM: HPD
M ZHot) FHE MHAE 29
Sl B SYS MIZ2Y (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 FEIIAZAN B2 QB A
10,000& = 120K = 23l 240
0o FEHIATAME 22 I HA
3,000& = 1,5000H * 50% 2,250
o TEHSHIALE QI 60& = 20,0000H 1,200
o F=EItA OIS HAN 60& = 9,0000H 540
o FEItA ZHEXS A
100& = 10,8000H 1,080
o MHEFEIIA E2H THAME &3
108,000& * 107K 1,080
o MHEFEIIA E2H THME EX
65,000 = 408 2,600
o HEFEIIZ A3
70,0003 = 23| = 11Q1 = 50% 770
Olger=&tl] 8,420
O M &HAlI 2tel 8,420
o MAtAl R SeatE M=
70,0003 = 1201 = 23l 1,680
o MAAl £ OCRL XA (S8 2
65,0003 * 33 A « 25F 4,290
o MALAl 23 WA M HASXI
60,0003 * 104 +« 15 600
o MatAl 22 & el=3 JA
500& = 1,08001 = 23l 1,080
o MAtAl DHE A 29l3
70,000& = 13| = 11¢l 770
Ol3l] 210
ONEZESINAZAN ALET N Y|
7,000& * 32 = 10 210
02 =224l 19,710 29,790 A 10,080
o222 ¥ HMAl 19,710
O THAMI XM g8 2H= 15,695
os I 1,930& = 1,500 2,895
og ¢t 320& = 40,000A 12,800
OFUINAABSNE ¥ 2WE
3203 * 10,0002 = 23| = 50% 3,200
OsJlgrsz 1,630& » 500 815
202 044l 4,320 6,010 21,690
01 SLHOIYI 4,320 6,010 A1,690
Od=2 & JIetSA ANIEEH A =& K|
120,000& =+ 33l 360
OAIANIIEEN B8sHR Wl
120,000& =+ 33l 360
OMNE =S I AL =& Kl
20,000& = 321 » 30 1,800
O &Ml DEAIREZ ZAF =& O I
20,000& = 321 » 30 1,800
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SM: HPD
M ZHot) FHE MHAE 29
el JEE SAHEN &2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
a8 HEN &2 110,620 118,900 A 8,280
Egsk 3l A2 110,620 118,900 A 8,280
201 Let24d] 99,040 107,200 A 8,160
01 At 22/l 88,240 91,600 A 3,360
Olget+gl] 77,800
OXYE 0l8 =& 20,000& = 420A 8,400
OSINHESH B2 SUXH BA 448
500,000& = 18A 9,000
OHEEHAAM I 5,000 = 2408 = 38 3,600
02015 M NME=Z LM QI
300,000& * 65% 19,500
02015 HEMEZ LM FEHF Y
89,2302 * 65% 5,800
OXNYSAHME s WM M
18,0008 * 500 9,000
020148 MRELDAN SUHM BE =2
13,000,000& * 13l 13,000
OENYRFA 5 - SH2 7
80,000& = 5& = 153/ 6,000
O ==Al SIRHEA HSLSALE
L2EZEQA 3,500,000& * 14 3,500
2
Ool2g=+¢] 9,600
OZBMAARAA]TE  100,000& = 321 = 20 6,000
ONMtMoRRE BHLY
100,000& = 92! = 43| 3,600
Ol=&Hl] 840
OA & At GRF& X S EHI
7,000& * 3@ * 40 840
02 =224l 10,800 15,600 A 4,800
O[AM& &b 2Xbl] 10,800
Ot MAMA L FRAA T2
S PNE=E:] 750,000& = 12& 9,000
OHALESIHAAE S EH|
150,000& * 12& 1,800
202 o4l 11,580 11,700 A 120
01 = LH &4 1l 11,580 11,700 A 120
Olfdgz & & ¢ &8s&8F Ol
120,000& =+ 83l 960
OSAR)| HRZA BSEL ol
120,000& +* 63l 720
O=A=Ige@ s BA oYl
120,000& = 1@l » 2.5« 300
ONYSAME L HAB2ANE DSEA O]
120,000& = 201 » 2.5« 600




SM: HPD
M ZHot) FHE MHAE 29
el JEE SAHEN &2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3A & A HRFA 0l
20,0003 = 621 » 75 9,000
SEHQ Matzel 1,599,357 1,254,716 344,641
S5 etz 216,590 147,525 69,065
S S M At2te] 216,590 147,525 69,065
201 2et24d] 8,590 29,525 220,935
01 At 2teltl 8,590 28,025 A 19,435
Oflger=&Hl] 8,310
O=sMize dUsE 20 DM L FES
S oI 107& = 1,000 107
OBRML W2 LHEI +42
320,000& = 10A 3,200
OZ|MM BRNY 2= +42
232,000& = 20A 4,640
OSRML Mo 22X P2
24,2003 » 15%A 363
ol2g+¢] 280
OZ2RMLas A} =&
70,000 * 43 280
202 044l 8,000 8,000 0
01 SLHOYI 8,000 8,000 0
OZ2xMetzte] 2= Gl
20,000& = 521 » 80 8,000
401 Al HIZ 201 8] 200,000 110,000 90,000
01 A& HI 200,000 110,000 90,000
OUSHARA FANERX e
200,000,000& * 14! 200,000
S FA2E 1,382,767 1,107,191 275,576
FAAEZS 2l 1,380,727 1,099, 191 281,536
101 @14 dl 57,134 22,347 34,787
04 JIZHHZ22XRHEES 57,134 22,347 34,787
OHA BAQ R
48,2403 = 391 x 249 36,036
OFs=+¢ 48,240 = 321 * 52 7,526
O¢itrs+¥ 48,2403 * 321 * 15¢ 2,171
O RES 45,731,520 * 9.85471% 4,507
OHEARE &3 48,2403 * 121 * 30 1,448
OBAZH REFQ o2
48,2403 * 201 * 302 2,895
OEAIYS HA o
48,2403 * 721 « 2 * 23| 1,351
OZEF Il 200,000& = 32! = 23] 1,200
201 L4l 662,783 649,348 13,435




8o =2

o
ol T a2
s ZA2Y

14 1o 40

HE - B (3H) - KISAY - BYS il HImEET
01 At 2t 2|l 84,268 90,338 A6,070
Oflget=&tl] 84,268
AR HYS 100,000& = 4091 = 23| 800
g 37 72 & MEH 1,500
o &7 E A MNEHI 200,000& = 33l 600
o7 ¥ A FYH| 180,000 * 53| 900
O HEAME 800
o M EHI 400,000& = 23 800
4D 2Zeldl (s, g384)
30,000& = 504 « 12& 1,800
A stEAMES ¥
230,000& = 63 * 73l 9,660
HEMNALOIMEY 2 (AEE 1
S, ZESHLUEH 138]) 550,000& * 123 6,600
BA BAES P2¥ 250,000& = 73l 1,750
TEA HHASH 300,000& = 63l 1,800
HAL BAE 23 MY D SE P (EFES
ZE) 4,350
o 20¢ 300& * 20004 * 753 450
o 504 7508 * 2000+ 126.663] 1,900
o 1004 1,47020 * 2500 & = 54.423| 2,000
AL BEHA E2 MEH
200,000& = 20& 4,000
gz 2 EE AL WA
1,000,000& * 104 * 43 4,000
ZALSS2teldl 200,0008 * 2 + 128 4,800
BARZEAAY BF HA=E
1,500,000& = 12& 18,000
HIHEEE el =+2(28)
1,034,000& * 1228 12,408
2 d) HHFEH =2
1,000,000& * 14 1,000
HMIIOPMEHE (& =+2(SH)
4,000,000& = 23| = 110% 8,800
SEXNY Z2HEI =2
300,000& = 3CH 900
O=8=23 HJI2 H™eldl 300,000& * 23 600
OXsSxt HIEM =2
35,000& = 20CH = 13l 700
02 =224l 578,515 559,010 19,505
ol22e22 ¥ HMAl 475,595
O AgtotM e &3l 240,000& * 13 240
OEZNMH RES(NEE, 23THE)
9,000,000& = 13l 9,000
OMINER(EE €2, 5358)
15,000,000& * 12& 180,000
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SM: HPD
g a8HQ MHatzel
S AN ALY (25 & @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ANSE (2 82, 858)
900,000& = 12& 10,800
OXNSXH(58XS 100CH)
100,000& = 110CH 11,000
OXNSXANEEE(SEXE 1000H)
650,000& = 110CH 71,500
OZZEHMN WA=
193,055,000& * 13l 193,055
O[AM&&HI S X4l] 42,320
OHEE R 22U (28 22, 558)
5,000& = 5,000m 25,000
oga € 23ls s2J =A&ell|
360,000& = 12& 4,320
onoAINA = E HHIEA
100,000& * 42CH 4,200
o=z 2 g2 ¢33 XNotd+E FLA(BS
s ZE) 1,800,000& * 23| 3,600
O&XXTEHO ZHIY AZEYNAH RANES
350,000&  12& 4,200
O&EAMN=E FX2cltl 1,000,000& * 14 1,000
O[Xtg - detdl] 60,600
OXNERXH L S2U
250,000& = 20CH = 122 60,000
OZEXNERANZL 425 ¢
100,000& * 6CH 600
206 M= Hl 8,600 A 4,600
01 M2 4l 8,600 A 4,600
OFALY e 2 2 2,000,000& = 13l 2,000
O232el dXH1 #+2 2,000,000& * 14 2,000
OBMAL ¥ S5 Z2A F 4,600
Oz ZYA 3¢ 50,000& = 4004 2,000
OEAMN=EEZ Y Bt 7Y 50,000& * 523 2,600
401 AIEHI L 2 CHYI 41,000 AT5,400
01 A& HI 41,000 AT5,400
OZ A 225 HEHIZSA JI2 & AAE
HEA 11,000,000& * 14! 11,000
OFEAL 28 =7l 3,000,000& * 10A 30,000
405 XtatE SHI 611,210 313,314
01 AR ESFH S 611,210 313,314
Oal AIRAFI 7 40,000,000& * 14l 40,000
OAMzt ¢ 50,000,000& = 14 50,000
OZA 243 #2 500,000 » 5& * 23] 5,000
OSIE2EY FLY(MR) 20,000,0008  1CH 20,000
OUSxcZ2e|ig P (HMALD)
214,510,000& = 104 214,510




SM: HPD
g a8HQ MHatzel
& HEE FAM2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSSESY Y (2IAEAS L)
20,000,000& =« 1CH 20,000
Ost2Ey P (&4=S) 20,000,000& * 1CH 20,000
OFAXZ R (ZAHH) 80,000,000 * 1CH 80,000
OHA Y (E2NSH-H4S0s=H2)
110,000,000& * 1CH 110,000
OF=E22(SAI) R (MBSH)
8,000,000& = 1CH 8,000
OBSSE(ZAI|) 7 (Sa0)
8,000,000& = 1CH 8,000
OFS2FB(Z2AI) P (BAXAEHA)
2,000,000& = 5CH 10,000
OF+2Z(2AMI]) FL(HLEINEU-BLHERL
Stold  Hadad) 4,000,000& = 2CH 8,000
OX¥+=228(HIULZZRH) 2 (HLIH=1-
HAiAER32) 2,500,000& = 1CH 2,500
OZF+S3(UXNELIH) L (AL AL A
) 5,200,000& = 1CH 5,200
OX¥+228(HUQZZRH) R (FUSX4Y)
10,000,000& * 14 10,000
A A 22| 2,040 8,000 25,960
201 Let24d] 600 6,560 A5,960
01 At 22l 600 6,560 25,960
O2dd HM=sUs &4 HAYXH
600,000& = 13l 600
202 4l 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
O2dd H=Us &4 odl 40,0008 = 362 1,440
SHE A2 538,709 601,555 A 62,846
S Marze(sHAR) 538,709 601,555 A 62,846
S8 MHarzel 29 538,709 601,555 A 62,846
201 Let24d] 259,709 240,115 19,594
01 At 2teltl 7,744 7,744 0
Oflger=&tl] 7,744
OSW 82 BogA 7Y
500,000& * 118%™ 5,500
OUBE NRERA FIIQEEY 228
170,000& » 128 * 110% 2,244
02 =224l 251,965 232,371 19,594
o[22 % HAl 177,600
OSH EAN HI 23
1,000,000& 1158 * 123 132,000
OSH M &4k 2=
100,000& » 11SH » 123 13,200




SM: HPD
Bu: goiEARe
tel: SY Maze(SEHAZ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSHARA R0AH 22|
140,000& » 118H » 128 18,480
ONSS NREZ2 R0 A2 2|
160,000& » 12& 1,920
ONSSMHE=ZTA23H
1,000,000& * 12& 12,000
O[AM&&HlI S X4l 32,125
O E A = XIHl 32,125
o IS 5,000& = 967.5m 4,838
ousEs 5,000& = 680.4m 3,402
o Ed&lH 5,000& = 396m’ 1,980
o =&Y 5,000& = 496m’ 2,480
o d=H 5,000& = 615.5m’ 3,078
o AlIZBH 5,000& = 543.5m’ 2,718
o XX 5,000& = 509.3m’ 2,547
o =ANH 5,000& = 613.7m 3,069
o NzH 5,000& = 505.1m’ 2,526
o SHatH 5,000& = 548.2m’ 2,741
oOled 5,000& = 549.1m’ 2,746
O[xtg - dethl] 42,240
oSe HIXY 2|
320,000& » 112® » 128 42,240
401 Al HIZ 2018 269,000 340,240 AT1,240
01 A& HI 269,000 337,000 A 68,000
OIASAEL BA =XHE ZLSA
200,000,000& * 14 200,000
OIASAEL HIIS A 30,000,000& * 14 30,000
OEHZHAIRA 2IZEE SA JI2 2 A&
|2 11,000,000 * 14 11,000
ONMSHAIRA 2IZBEE SA JI2 2 A&
HESA 11,000,000& * 14 11,000
OX=SHARA EXA F
5,000,000& = 14| 5,000
OFABEARA AE B2 IZA
7,000,000& = 14| 7,000
OZANHARA TS ExIZ At
5,000,000& = 14 5,000
405 Xt&tE SHI 10,000 21,200 A 11,200
01 AL EFH S 10,000 21,200 A 11,200
O[Rarx Sl ] 10,000
OdYLE S 11 SHARA HIAE AKX 7
= 250,000& = 4004 10,000
HY2FZH (HRD) 77,316 73,449 3,867
Jl=&l 77,316 73,449 3,867




2M: R

H: HHE2IZH (W)
2

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MEE JI234| 22,312 0 22,312

201 et HH 14,032 0 14,032
01 At 2t2ld 14,032 0 14,032
Oolgere 10,000
ORAEH &t 10,000,000& * 14 10,000
Ol 4,032
ORNEY At 7,000& = 621 * 96 4,032
202 04| 4,080 0 4,080
01 2LHOHI 4,080 0 4,080
OfMd&d 20,000& * 621 x 34 4,080
203 @R =&H 4,200 0 4,200
04 EANSHEER 4,200 0 4,200
OMBLUE S=&XHdl 350,000& * 12& 4,200
g I3l 19,112 19,112 0
201 dEtE Ay 15,032 15,032 0
01 AFR22t2lY 15,032 15,032 0
orget= 11,000
OFNMEH At 11,000,000& * 14 11,000
O[2&Hl 4,032
OFNMEH At 7,000& = 621 » 96 4,032
202 (4] 4,080 4,080 0
01 2L Y| 4,080 4,080 0
2MEY 20,000 = 621 x 34 4,080
2E I8 11,950 20,112 A8, 162
201 et A | 7,950 11,832 N 3,882
01 AFR2t2l Yl 7,950 11,832 N 3,882
Olget2dl] 4,100
OFRNSHES MU & 4,100,000& * 14 4,100
Ol2&Hl] 3,850
OFRNSHES MU & 7,000& * 521 x 110 3,850
202 (4] 4,000 4,080 A 80
01 2L Y] 4,000 4,080 A 80
NI SHH & 20,000 = 5921 = 40 4,000
A48 JI2&E | 10,995 10,968 27
201 et A | 6,895 6,888 7
01 AFR2t2l Yl 6,895 6,888 7
Olgetsgdl] 4,200
OFRNESE SHHA 4,200,000& * 14 4,200
Ol2&Hl] 2,695




2AH: M

X ZH - SH
L= B

¢l =gl CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

ORA2E SHUAHL  7,000& = 521 = 77 2,695

202 oddl 4,100 4,080 20

01 = LH 4 1l 4,100 4,080 20
ORN2Y SAAHY 20,0003 = 501 » 41 4,100

Met2e| 8 Jl=2 3l 12,947 12,827 120

201 Let249] 8,747 8,747 0

01 At 2teltl 8,747 8,747 0
Oflger=&tl] 5,387
ORAN2E SUNY 5,387,000& = 14l 5,387
Ol=&Hl] 3,360
ORA2E SHUAHL 7,0008 = 62! = 80 3,360

202 oddl 4,200 4,080 120

01 SLHOYI 4,200 4,080 120
ORN2Y SAUAHY 20,0003 * 6H » 35¢ 4,200

Hees (M) 123,200 126,500 A 3,300

RSN 123,200 126,500 A 3,300

A LH & 123,200 126,500 A 3,300

311 X+ S 01 Xk &k & 13,200 16,500 A 3,300

03 SLEFRXNL S0 AH4&E 13,200 0 13,200
OJIEt2 WXL S & 20l Xt 13,200
O=Z&EA HIJI3 OlX 13,200,000& * 14 13,200

601 XL S A& E 110,000 110,000 0

03 ESLFRNLS A3 &4E 110,000 110,000 0
OJIEt =W =& & 110,000

OZEAMN HHDIz &3

110,000,000& * 14 110,000




